
Modification Procedures:
Step 1 If your current Power-Pole has a 5/16” bolt and the Stern Bracket hole is damaged,
	 remove all hardware and drill out the stern bracket bolt hole (only) with 9/16” steel drill bit.
Step 2 Drill out both sides of U-channel (only) with a ½” steel drill bit.

Need help? Contact our Technical Support Team at 1 + 813.689.9932 Option 2
9010 Palm River Road, Tampa, Florida 33619 
phone 813.689.9932 • fax 813.689.8883 • power-pole.com 
©2018 all rights reserved. Power-Pole Shallow Water Anchor U.S. Patent No. 6,041,730

Hardware (Included):
A.	 (2) 3/8” x 3-1/2” Bolts
B.	 (4) 3/8” Washers
C.	 (4) Small Bushings
D.	 (4) Long Bushings
E.	 (8) Large Bushings 
F.	 (2) 3/8” Nylon Lock Nuts

Installation Tools:
•	 9/16” Socket with Ratchet
•	 9/16” Wrench
For 5/16” Models:
•	 9/16” Drill Bit
•	 1/2” Drill Bit
•	 Electric Drill

WARNING: Never touch spike with bare hands.

B F

A

C D E

A

A

B

B

B

BC

CC

C

DD

DD

EE

EE

F

F

D

E
9/16” Socket & Wrench

NO��TES: 
•	Remove old hardware and follow installation diagram to install new hardware.
•	Tighten nuts (F) snug using 9/16” socket and wrench.

Installation Diagram

IMPORTANT: For Sportsman II Models, 
	          use large bushings (E)        	
	         instead of long bushings (D).

BOLT SET FOR 3/8” STERN BRACKET (UPPER OR LOWER)
INSTRUCTIONS
Compatible With the Following Models:
•	 Power-Pole Pro Series 6’, 8’ (2010-2011)
•	 Power-Pole Signature Series (All Models)
•	 Power-Pole Pro II Series (All Models)
•	 Power-Pole Sportsman II Series 8’; (2012 & Later)


